Home work solution (chapters 8-14)
Chapter 8: P64:E4

4.
Develop a resource schedule in the loading chart that follows.  Use the parallel method and heuristics given.  Be sure to update each period as the computer would do.  Note:  Activities 2, 3, 5, and 6 use two of the resource skills.  Three of the resource skills are available.
Log of Parallel Method of Scheduling Exercise 8-4

	PERIOD
	ACTIVITY
	CHANGES

	0-1
	2
	Schedule Activity 2 (first by minimum slack rule)

	
	1
	Schedule Activity 1

	1-2
	-
	No changes

	2-3
	-
	No changes

	3-4
	-
	No changes

	4-5
	3
	Delay ES of Activity 3 to 5.  Reduce slack to 1

	5-6
	4
	Schedule Activity 4 (minimum slack rule)

	
	3
	Schedule Activity 3

	
	5
	Delay ES of Activity 5 to 6.  Reduce slack to 1

	6-7
	5
	Delay ES of Activity 5 to 7.  Reduce slack to 0

	7-8
	5
	Delay ES of Activity 5 to 8.  Reduce slack to -1

	
	6
	Delay ES of Activity 6 to 11.  Reduce slack to -1

	8-9
	5
	Delay ES of Activity 5 to 9.  Reduce slack to -2

	
	6
	Delay ES of Activity 6 to 12.  Reduce slack to -2

	9-10
	5
	Schedule Activity 5

	10-11
	-
	No changes

	11-12
	-
	No changes

	12-13
	6
	Schedule Activity 6
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Chapter 9: P302:E4

4.
If the indirect costs for each duration are $1,200 for 16 weeks, $1,130 for 15 weeks, $1,000 for 14 weeks, $900 for 13 weeks, $860 for 12 weeks, $820 for 11 weeks and $790 for 10 weeks, compute the total costs for each duration.  Plot these costs on a graph.  What is the optimum cost-time schedule?

Note:  The duration for this schedule is weeks and students should be told only to crash the network one week at a time (not days).
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For duration 14, B is chosen over D & E because it is the earliest task.  If problems occur, you can crash D or E.
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Chapter 10: Page 371 Case Study

Case

Cerberus Corporation
This case illustrates the conflict that can arise between a project team and its stakeholders.

1.
If you were Steele, what would you do?

Some students may feel that Susan Steele should stand her ground and attempt to convince Jon Wood to change his mind.  However, this is an emotionally charged situation, on the verge of turning into a shouting match.  Susan needs to acknowledge Jon’s concerns about money and restore civility if she has any hope of depolarizing the situation.  Possible paths forward include:

· Convincing Jon to buy new corporate standard file cabinets – this seems unlikely.
· Locating excess corporate standard file cabinets from another location to substitute for buying new ones.  Alternatively, locating additional funding to pay for new cabinets – this seems unlikely.
· Escalating the conflict to the two general managers – this may be seen as an admission of failure, and may be considered a nuisance by the general managers.
· Allowing the non-standard file cabinets to move – this raises the issue of aesthetics.  The cabinets are not corporate standard, but they are nice-looking, and there is no ergonomic issue.  Did the project team go too far in their mandate that only corporate standard furniture would be moved?  This leads to the second question.

2.
What, if anything, could Steele have done differently to avoid this problem?

· Project scope.  Much of the difficulty with this situation traces back to the project scope.  Workstation ergonomics is clearly in the intended scope, and all the business units responded to the ergonomic survey.  Moving to corporate standard workstations would be easily defensible and, if necessary, escalation to the general managers would be a viable alternative.  However, forcing replacement of all furniture (file cabinets, bookcases, wastebaskets, etc.) to the corporate standard is a question of aesthetics, and could be seen as scope creep.  Susan and her team decided this, and got approval from Tom Stern, without consulting with the business units.
· Stakeholder involvement.  Susan’s team was composed of people from site functions (safety, facilities, and accounting), with no representation from the business units.  This is particularly important since the individual business units are expected to incur the expense.  The business units were never consulted on the replacement of all furniture to corporate standard.
· Risk identification.  The failure of the project team to anticipate resistance to replacing furniture is a major oversight.  Good risk identification could have led to tighter definition of scope, better stakeholder involvement, and/or alternative funding.
3.
What could the management of Cerberus do to more effectively manage situations like this?

Some students may propose that the facilities group should budget for the expense of the new furniture.  If this is proposed, ask where that money would come from.  This should lead to the conclusion that if facilities does incur the expense, it will be allocated in some manner to the business units.  This situation can lead to even greater dissatisfaction from the business units about how facilities are spending their money.

A second approach could be the formation of separate facilities groups for each business unit.  While this may be convenient for some situations, it would complicate site-wide issues, and would lead to some duplication of effort (and higher total cost).  

A more promising line of discussion is improving project management in the site functions.  Site-wide projects that need business unit funding could be required to have explicit cost projections, project team representation, formal approvals, and structured communications.
Chapter 11: Page 409: Case
Case

Kerzner Office Equipment

This case provides an opportunity to explore some of the issues surrounding the startup of a project and formation of a team.
1.
Critique Brigg’s management of the first meeting.  What, if anything, should she have done differently?

Given the time constraint and late start, Briggs probably accomplished as much as she could in this meeting.  At the same time, one might question how the other members felt upon leaving the meeting.  First, many of the members seem less than enthusiastic about the project.  Second, the members don’t have a good idea about how they are going to accomplish the project and what kind of involvement it will require from them.  She should have anticipated the meeting times dilemma and avoided the jousting by simply requesting the schedule information up front.

2.
What barriers is she likely to encounter in completing this project?

See Question #3.

3.
What can she do to overcome these barriers?

We recommend that you record students’ responses to the barriers question first on one half of the blackboard (or on a flip chart) and then discuss and record potential solutions to each barrier on the second half of the blackboard.  One might begin the discussion by asking students whether this will be a difficult project to manage.

	Barriers
	Solutions

	1.
Large task force (14 members)
	Break the task force into subgroups around major tasks

	2.
Members not selected based on skill and expertise
	Clarify involvement, supplement expertise with outside input, delegate carefully

	3.
Low or indifferent commitment on the part of some members toward the project
	Build enthusiasm by personal example, developing a shared vision, and top management support

	4.
Spatially separated
	Find a common meeting place, develop e-mail list, create a project Web page, establish communication protocols

	5.
Limited, part-time involvement
	Assess individual availability and assign tasks accordingly

	6.
No experience working together on event projects
	Provide strong direction and create opportunities to get to know each other


One of the key issues Briggs has to resolve is how she will use the team to complete the project.  One path would be for her to do most of the work and consult the team on important issues.  A different path would be to delegate specific tasks to the team (for example, deciding when the celebration should take place, deciding where it should be held) and manage the process.  This path would more consistent with the culture at Kerzner.

4.
What should she do between now and the next meeting?

She needs to meet with individual members and get some sense of the kind of contributions they can make to the project both in terms of time and ability.  She should test some of her ideas about how to organize the project when talking to members and revise those plans as she acquires new information.

She needs to develop a master plan for the project which includes a list of milestones, a breakdown of major tasks, and how the team will be organized to complete the project.  She should seek the advice of people outside the organization who have experience organizing such events.

She needs to schedule a longer second meeting to present and revise the master plan.  She needs to request an administrative assistant who can handle details.  She should persuade Tubbs to attend at least part of the next meeting to communicate the importance of the project to the team members.
Chapter 12: P441: Case Study

Case

The Accounting Software Installation Project

The recognition of mutual dependency has been lost; the “we” has moved to “us” and “them.”  Teams have moved to making decisions independently rather than coordinating decisions that affect others.  Problems have degenerated to the personal level rather than concentrating on the problem and solutions.  No clear cut process is in place for identifying responsibility and escalating problems.  No evaluation of the partnering process appears to have been in place.

We frequently use a cause-effect diagram (see Chapter 2) and ask student groups to identify why collaboration is not working.  (This teaching strategy is not always used; there are other approaches.)  These problems are then placed on the board, with an attempt to classify the issues.  This exercise is followed by suggestions to deal with getting the project back on track.

The cause-effect approach is also a suggestion for Karin to use in compiling the responses due from stakeholders.  This would get stakeholders to focus on major issues.  Other suggestions are to again have an outside facilitator come in.  The facilitator will be charged with providing team-building exercises that will bring home the mutual dependency of all stakeholders.  Further, the facilitator could use the format suggested in the text of separating the teams and asking:

· What problems do others create?

· What problems do we create for other teams?

· What problems can we help other teams solve?

(See Exercise 1 above for further ideas.)

Bring teams back together and have each team report their answers to each of their questions.  The facilitator could then assign people to groups to address each major problem and decide a process for solving the problem. 

Students are very creative in coming up with recommendations.  For example, place all of the teams in one location and combine them into one team charged with the responsibility to come in on time and on budget.  The major challenge for the instructor is to keep pushing for a holistic plan of action.  That is, how can all of their recommendations be packaged to ensure the major problems will go away and stay away?

Finally, we note that all partnering arrangements that have failed have one thing in common—none have carried through with the recommendation of evaluating by individual team and the total partnering arrangement. Regularly evaluating the partnering process quickly tells the project manager if and where the process is working fine, improving, or unraveling.

Chapter 13: Page 484, Exercise 6
6.
The following labor hours data have been collected for a nanotechnology project for periods 1 through 6.  Compute the SV, CV, SPI, and CPI for each period.  Plot the EV and the AC on the summary graph provided (or a similar one).  Plot the SPI, CPI and PCIB on the index graph provided (or a similar one).  What is your assessment of the project at the end of period 6?
After 6 time periods the project is roughly 66% complete and so far work on the project has taken 1,600 hours less work than planned.  There is 400 hours worth of work on Activity 4 which was suppose to have been done that has not done.  Since Activity 4 is on the critical path, the project is behind schedule.  If schedule is the number priority, the project manager may want to consider investing some of the savings on accelerating critical activities.
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Status Report:  Ending Period 1

	Task
	% Complete
	EV
	AC
	PV
	CV
	SV

	1
	50%
	1000
	500
	1000
	+500
	0

	Cumulative Totals
	1000
	500
	1000
	+500
	0


Status Report:  Ending Period 2
	Task
	% Complete
	EV
	AC
	PV
	CV
	SV

	1
	Finished
	2000
	1500
	2000
	+500
	0

	Cumulative Totals
	2000
	1500
	2000
	+500
	0


Status Report:  Ending Period 3
	Task
	% Complete
	EV
	AC
	PV
	CV
	SV

	1
	Finished
	2000
	1500
	2000
	+500
	0

	2
	0%
	0
	0
	1600
	0
	-1600

	3
	10%
	300
	200
	500
	+100
	-200

	4
	20%
	500
	500
	1000
	0
	-500

	Cumulative Totals
	2800
	2200
	5100
	+600
	-2300


Status Report:  Ending Period 4
	Task
	% Complete
	EV
	AC
	PV
	CV
	SV

	1
	Finished
	2000
	1500
	2000
	+500
	0

	2
	50%
	1200
	1000
	2400
	+200
	-1200

	3
	30%
	900
	800
	1000
	+100
	-100

	4
	40%
	1000
	1500
	2000
	-500
	-1000

	Cumulative Totals
	5100
	4800
	7400
	+300
	-2300


Status Report:  Ending Period 5
	Task
	% Complete
	EV
	AC
	PV
	CV
	SV

	1
	Finished
	2000
	1500
	2000
	+500
	0

	2
	Finished
	2400
	2000
	2400
	+400
	0

	3
	50%
	1500
	800
	2000
	+700
	-500

	4
	60%
	1500
	1500
	2200
	0
	-700

	5
	25%
	400
	400
	400
	0
	0

	Cumulative Totals
	7800
	6200
	9000
	+1600
	-1200


Status Report:  Ending Period 6
	Task
	% Complete
	EV
	AC
	PV
	CV
	SV

	1
	Finished
	2000
	1500
	2000
	+500
	0

	2
	Finished
	2400
	2000
	2400
	+400
	0

	3
	80%
	2400
	2100
	2300
	+300
	+100

	4
	80%
	2000
	1800
	2400
	+200
	-400

	5
	50%
	800
	600
	800
	+200
	0

	Cumulative Totals
	9600
	8000
	9900
	+1600
	-300


Indexes
	Period
	SPI
	CPI
	PCIB
	

	1
	1.00
	2.00
	.07
	

	2
	1.00
	1.33
	.14
	SPI = EV / PV

	3
	.55
	1.27
	.19
	CPI = EV / AC

	4
	.69
	1.06
	.35
	PCIB = EV / BAC

	5
	.87
	1.26
	.54
	

	6
	.96
	1.20
	.66
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